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Write a quadratic function in verie

vertex and passes through the gwenpomt

1. vertex: (0, 0)
point: (2, 4)

4. vertex: (44, -2)
point: (=3, —1)

z.

B.

vertex: (2, 1)
point: (4, 5)

vertex: (3, —2)
point; (7, 6)

: form whose graph has the given

3. vertex: (2, —4)
point: (0, 0)

8. verteﬁ: (4, 45)
point: (1, 13)

ﬁac%mc Form %(?{ @“’(K ?36{‘ CE>

x—mtercepts and passes through the given pomt

7. x-mtercepts., 2,3
point: (4, 2)

- 10. x-intercepts: —7, =2 -

point: (—5, —6)

8. x-mtercepts. -4, 1

1.

point: {(—3, —4)

x-intercepts: 0, 4
“point: (—1, 20)

| Write a quadratic function in intercept form whose graph has the given

9. x-intercepts: —5,5 -

point; {6, 11)

12. x-intercepts: —3, —2
point: (—4, —6)
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 Write 2 quadratic function in standard form wheose graph passes through
the given points.

; 13 (L-2.(-21.6.6 Caa (2,6),(=2,-2), (1, 1)
\ ‘15; (_2a 7)} ‘(Mla 3): (3’ 7) -A ‘ ‘ . | 6. (1: 0): (25 4)5 (07 2)
A7, (2, -4),(3, -7, (1, -3) | o 18 (~1,-2), (1, -4, (2, 1)

fre Exercsses 19 and 20, use the fui!@wmg m'&ormatmn

Population Model The following table shows the populatlon of a town from 1996 to 2004.
Assume that £ is the number of years since 1996 and P is measured in thousands of people..

Yeant | 0 1 | 2 3| 4 s /| 6|78
-Population, P | 22.8 | 25.0 | 26,5 | 27.1 | 27.8 | 28.1 | 27.9 | 26.9 | 26.1

. 19. Use a graphing calculator to find the beét-ﬁttmg,quaglratic model for the data. .

20. Usingthe inodel, what is the population in 20077 |

In Exercises 21 and 22, use't_hé following information.

Operating Costs ‘The following table shows the operating costs of a small Business from
2000 to 2005, Assume that ¢ is the number of years since 2000 and C is the cost in
thousands of dollars. .

Year,i'_ - 0.1 12_ -3 ‘4'--5'.

Operating tosts, € | 2.3 | 2.6 | 3.1 | 33 | 4.0 | 52 _ o ‘
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21. Use a graphing calculatbr to find the best-fitting quadratic model for the data. .

22. Using the model, how much are the operating costs in 20087
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